11 |
| HNEEEEN

www.fhbrundle.co.uk

-

A

MARANO"

LIGHT « STYLE « VISION

M DESCRIPTION QtY
: Side Fix Mid & End Post Extrusion, 13920mm :
long.

2 End Post Slotted Cap 1
3 Infill 75mm. 1
4 Plastic Packer 2
5 Type 1 Rubber 1400mm Long 1
6 Type 2 Rubber 1400mm Long 1
7 Side Fix Post Botfom Cover Plate 1
8 Side Fix Post, Side Cover Cap 1
9 Infill 380mm For Side Fix Posts 1
10 Infill For Side Fix End Post,1395mm long. 1
11 Countersunk tapping screws M5.5 x 40mm 4
12 M12 Nut 2
13 M12 Washer 2
14 M12 x 120mm threaded rod 2
15 Handrail Pan Screw M5 x 40mm 4

(\ (\\ ”

80 930 390
1400
Voo © o]
' _ 150 55
DESCRIPTION: Side Fix End Post, C/W Cover Cap.
NAME DATE REVISION UNLESS OTHERWISE SPECIFIED
Part Code Material Finish DRAWN e 23/09/2019 ALL DIMENSIONS ARE IN MILLIMETERS A3
6805794S50 | Aluminium Anodised CHECKED DO NOT SCALE DRAWING SCALE:1:5




www.fhbrundle.co.uk

Option 1 - With Handrail

Handrail options:

68057056225 - Rectangular,

68057057227 - Oval;

s

50

MARANO"

LIGHT « STYLE « VISION
Option 2 - Without Handraill

o
0
o
o
- =
D
(0,8
T e - B R I o
I8 O
< <
© I O
o
@)
3 50 R
0 o)
o) o)
50
[
10mm Glass / I
DESCRIPTION: Side Fix End Post, C/W Cover Cap.
: A NAME DATE _ |REVISION UNLESS OTHERWISE SPECIFIED
Parf Code Material Finish DRAWN T 00 | 270972019 ALL DIMENSIONS ARE IN MILLIMETERS
6805794550 | Aluminium Anodised
CHECKED DO NOT SCALE DRAWING SCALE:1:5

A3




	Sheet1
	Drawing View71
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82

	Sheet2
	Drawing View56
	Drawing View57
	Drawing View64
	Drawing View65
	Drawing View84
	Drawing View85


